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M.Cﬂﬂl., SEII'I.-]I
EA/EE-410 : Financial Accounting & Auditing-I1

Time : 2 Hours] [Max. Marks : 50

Instructions: (1) All questions in Section — I carry equal mar’s.
(2) Attempt any TWO questions in Section — L.
(3) Question—5 in Section — II is Compulsory.

SECTION -1

I. (A) How will you value the inventory per kg of finished goods consisted of :

Material Cost 3 250 per kg
Direct Labour cost % 100 per kg
Variable Production Overheads ¥ 50 per kg

Fixed prodiction overheads for the year on normal capacity of two lakh kgs is
.%.50,00,000. 1000 kgs of finished goods are in stock at the year end.

Find the total cost of finished goods stock.

(8) " Explain Monetary and Non-monetary grants.
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9. The following is the statement of Profit and Loss Account of Vivansh Ltd. for the year

ended 31* March, 2022 :
| ®

| Gross Profit 12,00,000
Other Incomes : _
Profit on sale of Building 1,20,000
(Cost price of Building is ¥ 1,00,000, Total
Depreciation ¥ 20,000 and Selling price is ¥ 2,00,000)
Dividend (Tax Deducted at source ¥ 15,000) 50,000
Security Premium 60,000
| L

'14,30,000

Less : |
Salary and Bonus 3,50,000
Administrative and Selling Expenses 50,000 .
Débenture interest 40,000
Donation to recognised institution ' 30,000
Loss on sale of investments 15,000
Depreciation 80,000
Director Fees . 20,000
Repairs and Maintenance exps. 30,000,
Loss on sale of furniture 11,250
(Depreciated yalue ¥ 20,000)
Bad Debt Reserve 22,750
Scientific Research Expenses 30,000

| (Equipment Purchased)
Provision for Tax 3,00,000
Debenture Issue expenses written off 10,000 | 9,89,000
Net Profit 4,41,000
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Additional Information : -

(1) Bad debts written off against the bad debt reserve is T 12,750.

(2) The amount of salary and bonus, includes ¥ 25,000 as previous year’s balance and

¥ 10,000 as amount paid to an employee for ex-gratia compens-*ion.
(3) As per Companies Act, allowable depreciation is T 60,000.
(4) Repairs and maintenance expenses, included ¥ 14,000 for building construction.

Calculate the commission payable to the manager at 5% on net profit after charging
such commission.

3. Gaurang sells his products in containers charging them out at ¥ 22 each in customer’s
account. Customers are credited by % 18 each if the containers afe returned within one
month. For accounting purposes at the end of year all stock with customers and in
factory are valued at ¥ 14 each, except those representing new ones which are valued at

their purchase price which is ¥ 15. The following particulars are available for the year

ending on 31% March, 2022 :
Nos.
Containers with customers (1-4-2021) 13,600
Containers on hand (31-3-2022) 17,300
Containers sent out to customers 21,000
Containers returned by customers 6,800
Containers destroyed by fire 400
Containers sold as scrap (for ¥ 600) 100
Containers on hand (1-4-2021) 10,000
Containers with customers (31-3-2022) 9,200

Repair expenses paid on containers returned amounted to X 200.

From the above information prepare Containers Trading Account and Containers

Provision Account.
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4. Misha sells goods on Hire-purchase by adding 50% profit on cost. From the following

information, calculate missing figures and prepare :
(1) Shop Stock Account

(2) Hire-Purchase Stock Account

(3) Hire-Purchase Debtors Account

(4) Hire-Purchase Trading Account

®)

Balances as on 1-4-2021

Stock in Shop (at cost price) 60,000
Hire-Purchase Stock 60,000
Transactions during the year

Cash received from customers 2,50,000
Purchases during the year 1,80,000
Goods repossessed during the year.

(Installment due X 10,000) 2,500
Balances as on 31-3-2022

Stock in Shop (at cost price) 40,000
Hire-Purchase Debtors 25.000
"Hire-Purchase Stock 90,000

OR

4.  Explain the Types of Lease.
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SECTION -11

5. Choose the correct option : (Any Five)

(1)

(2)

()

(4)

()

(6)

(7)

(8)

JH-104

What is the title of Indian Accounting Standard -2 ?

(a) Revenue Recognition -(b) Inventory Valuation

(c) Borrowing Cost (d) None of these

Which of the following item is not included in cost of inventories ?

(a8) Cost of Purchase (b) Selling and Distribution Expenses
(c) Cost of Conversion (d) None of these

What is the full form of ASB ?

(@) Accounting Standard Base. (b) Accounting Standard Board

(c) Accounting Standards Bureau ~ (d) None of these

Which of the following is not a reserve ?
(@) General Reserve (b) Bad Debts Reserve
(¢) Capital Reserve (d) None ofthese

Which of the following rate is the maximum managerial remuneration rate as per
Companies Act ?

(a) 10% b 11%
(c) 5% (d) None of these

Which of the following expenses . aamissible for deduction while calculating
profit for managerial remiuneration ? ’

(a) Loss on sale of Investment (b) Depreciation
(c) Provision for Taxation (d) None of these

Containers Provision Account is prepared at

(a) Credit given to customer price ~ (b) Purchase price
(¢) Stock valuation'price (d) None of these

Containers with customers at the beginning of the year 20,000, containers sent to
customers during the year 50,000, containers returned by the customers 28,000,
containers with customers at the end of the year is 30,000.

Containers retained by customers would be

(a) 12,000 (b) 42,000
(c¢) 40,000 (d) None of these
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(9) Containers returned by customers during the year to be shownon ___-
(8) Debit side of Containers Provisions Account
(b) Credit side of Containers Trading Account
{c) Credit side of Containers Provisions Account

(d) None of these

(10) When goods sold on hire-purchase are repossessed, Hire-Purchase Trading
Account is

(a) Credited with estimated price or cost price
(b) Credited with unpaid installment

(c) Debited with unpaid installment

(d) None of these

(11) Cash received from Hire-Purchase Debtors to be shown on -
(@) Credit Side of Hire-Purchase Trading Account
(b) Debit side of Hire-Purchase Trading Account-
(¢) Credit side of Hire-Purchase Stock Account
(d) None of these

(12) The following information are taken from the books of a company .

(9]
Op 1ing Stock at Shop 90,000
Purchase during the year 3,10,000
Closing Stock at shop 40,000

Goods are sold so as to make a profit of 25% on hire-purchase price.
Amount of hire-purchase price of goods sent on hire-purchase would be
(a) ¥4,80,000 (b) 24,50,000

(c) 90,000 (d) None of these
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3) [QELIIAL W . § Ul B

Qewt-1
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42 Hovor v AHREL © -
HIGUMIA W Belels T 250
Uclat HoRL vl Beels T 100
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2. (Qaiaifl di. 3130 el 20221 oy YRL Al e gl wets 1R vl B:
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®)
5120) %) 12,00,000
ey YIS ¢
Hs1A QUL A5 1,20,000
(stl H Baid T 1,00,000, & SR T 20,000 A
QUL E¥d T 2,00,000)
RRs~s (3o 224 535U T 15,000) 50,000
ol (1R] MIF R . 60,000
‘ 14,30,000
ollG :
WIIR 4 oA | 3150,000
Ala?] 24 QUL vl 50,000
RoA-=uR 1oy 40,000
I~ A2 ElA 30,000
As10L QUL vz 15,000
UAURL 80,000
RRs2z 4l 20,000
UHRSH AR Ao vzl 30,000
gell1z QI MAI2 11,250
(ERURL CUE (E31d 2 20,000)
elLEVALEL Al 22,750
dstlRs el w2l 30,000
(At viRlEL)
a1 ALl 3,00,000
Rol-uR Rl vil idl el 10,000 | 9,89,000
2wl A4l 4,41,000



QeI HURA

(1) SR - vitd 1Sl die siereie T 12,750 6.

(2) WIR A oAl ML 31 ALe-AL ol T 25,000 243 A5 sHRAEIA Asa-ARRAL
(Ex-Gratia) 40lcR-L Y59Ell T 10,000 AHRAEL 8.

(3)  SUAL HIRL MO, MR HOMIEA SURL T 60,000 6.
(4) UHRS A [t WML T 14,000 1A AlMS AL ARG 8.

AAorA 3 s GULE sl wesleL AL Agi-L 5% AW Ygaais sELA-L QLRL 53

3. IRBL Al Hiet 7 YRl AA 6 d-ll B Ales vid T 22 QW GUR 8., M AL WIsl s
MR URA SR 2R L A T 18 ov3L MR AR §. RUGAAL 8e U 1A 20
ofell AR 205 O SIRVAAHL 1 % A5 WA S, A T 144l BHAAISAAL 8. MR - Adl
Wisll 1L A iRl Bad 2% T 15 AW sl 8. diRlud 313 H1RL, 202241 9y YR1 Asll

o R ARAL R ol 215 S

ALEEL WA 33 Wil AvAL(1-4-2021) 13,600
S12 YR ¥ W=l dv (31-3-2022) 17,300
Al HsAe Uall 21,000
ALSSIA YRel 56 Wil 6,800
AP A2l Wide WAl 400
eUR Xl A=l eldlet il (Z 60041 100
SIY YR e YAl dvul (1-4-2021) 10,000
S IR YAl dvaL (31-3-2022) 9,200

WRel et Wl 491l AURs 1 v T 200 2 el

Bur-l 3Rl wrell wisll AR vt dait Wl ALs viid du 53,
JH-104 3 P.T.O.



4. By Bad R 50% I EITAC LS oust-vidls walRell M g 3. Al AR

wzell vigdl ot 20, QIR 5 :
(1) g5t 2206, Vil

2) cust-vidle 22ls, v,

(3) CUst-VRl el vid

(@) eusi-vidlE R vild,

9

dL 1-4-2021-l cusldL :

g3t 2205 (SR Ead) 60,000

ollsl-viRlE 215 60,000
o] 6Bl ARG AAERL :

21¢8) WAl Hael A5S 2,50,000
ay gL viRlel 1,80,000
Ydl c—[lﬁ.e._ H|E
(o118l $udL T 10,000) 2,500
L. 31-3-2022-l\ oAl ¢
5141 3205 (USelR (B3a) 40,000
CLLSI=RlE AL BEE IRL 25,000
ALLSL-VRIE 3215 90,000

Y

4 il ul-l USIRL AL,
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(a) AsIBd1221rsd A (b) AsIB(21 22188 oL
(©) As1Ba1e1-sf ey d 2wl sSAR
(4) AR U 5 A4t 2] 9
(8) AR AR (b) < ELEVUEL H-ARe
) ¥l uRid (d)  NELES AR
(5 ARAAUS] 521 € Syl wRL Horod AAIESRHSAARUAL HETH 6 S
(a) 10% ® 11%
©) 5% d 2SR
(6) dueslA H3AdtuAL Agi-{l AR 53l tuid A4 WS 520 vi] ouig Holl 2B 9
()  RUSLQL AR A5 (b) AR
©) s ot @ 2AWLNSAR

(7) ARl A Htiaum 5L 241 6 .
(a) &SR GuR -l Bud (b) vRle Buq
(c)  R2lsAl Heauis-l Bua d) 2SS AR

(8) adHl iqw:mi ALESL WAL Ll 20,000, <4 6B AeSA WsAel WAl 50,000,
A5 Rt $36 WAL 28,000, <A 2id At WA WAL 30,000 B.

AlesIA AVl elBia il Qv 4l
(@) 12,000 (b) 42,000
(c) 40,000 d) UL NS AR
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(a) Rl vitdidl Gur ot (b) YAl QUR TS (g L o L ¢

© WA s varllorueny (@ U A A A&

(10) ik ol vidlell AAet e kel @il 2R AR, HR-VRIE IR i,
(@) @islBrd Eua® user Bd ol uQ
() cusl sudill sl o IR
© ol sudi-l sl GuriAl
(d) 2WASLES AR

(11) GRR-vRIEA BUERL Wl HAE A UCIELN

(@) G3-ViRle QR vl v HLeny  (b) A uEle AR vl GHUR ALY

(c) old-vidls s vl eny (4 =il AL A AR

(12) s sl s Rl D2 R A 2l B :

®)
g5leill A3l 221 90,000
-y gfrue viRlel 3,10,000
g1l AR 218 40,000

- vidle BHAWR 25% A5 1A A A HLe WA A 8.

o -vidlell AsAa el eld-vile Bxd sl

(a) % 4,80,000 (b) 4,50,000

(€ 90,000 (d) 2UUsLE A%
6
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